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03 Al 201 Y| 6,102 5,854 248
OUZTAIS (2t AE 1km) SEOHH] 1,524
O AL (AT 2km) SCHYI 1,996
OUT2ZINE (4km) 20HbI 2,066
Od =& (9%m) SOl 516
NEIINS:: 50,000 50,000 0
401 AlEHIZ 2 0HY| 50,000 50,000 0
01 Al& 49,460 49,460 0
OMEA THolRHA=2 MA
250,000 *200== 98 . 92% 49,460
03 AlE 20| 540 540 0
OMEA THolRHA=2 HMAH 204l
250,000 *200ZF=*1.08% 540
AEEAIS (Al 2RSS 2) 250,862 196,701 54,161
308 XAHXIEHSO0|& 250,862 196,701 54,161
07 AXSHHZ2HES S 250,862 196,701 54,161
OALXIAIE AlIZEYE2 14,580
OANEXNEH AIZEEZ2 491
OAMNEY AlZEYZ 157,500
OAMEHY EIEYS I AIZRE=2 2,470
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QeI & gAYl 22 (5000) 19,500
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SN S

M = MG AL
Sl BEAIZY CERED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o %E& HRE2
Ostet, T2 =X =&Y o2
12,3902 *50H x4 3| 2,478
OAMIK SXNHOIZ2eY ES 25=X )X
X g 60,2403 «170Y *53] 51,204
O2cH 8% 22 4% ME A9
60,2402 «200H *23| 24,096
OQdEH B 22 (AM, Mx) a8
60, 240& x40H x4 3| 9,639
O 1002l=2 22/ (0=, d9=d, Z=2H
) elged 102,630& x50 33| 15,395
201 Bt 21,600 21,600 0
02 E2=2=2%H| 21,600 21,600 0
02T BBRI(XII, +5)
200,000& x12& 2,400
OEAS 8|8 2Z22(HD], =5)
200,000& x12& 2,400
OFRYGA Z2YHA 222 2(&I)
100,000& 12& 1,200
OZFANLE 22X (20) =82
1,000,000 x12& 12,000
OXZFAE 22 CCH)NSAEE I+
800,000 =2CH 1,600
OZXZANYE &HHI(EEHH, 24M0]) SX 22|
1,000, 000& =204 2,000
206 M = Hl 101,900 91,900 10,000
01 =4l 101,900 91,900 10,000
OLZGE 22 NP (A, B2, 527 5)
20,000 *3007H 6,000
OYRY ZRMN UY |7 7
1,300& *3,000¢ 3,900
OFREAF Z2EX 22l &M HE S 2
20,000 *2007H 4,000
O8I 22X 22l &AM, HE ¢
20,000& *2007H 4,000
O=&HM, =2H, 2EZH S A2 2272Y
500& x20,000 10,000
OHEY X353 MM IFM(BXHEZE S) 22
4,000,000& *43] 16,000
Q24 £ ZZXN MM (sEs &) 7Y
600,000& x10& 6,000
OJ24 & ZZX HUAM(K, S, 8Kt
s) 7¢ 1,000,000& x10& 10,000
OJl24 2 ZZX 22 NHM(=s2, gdl) 2 8,000
OFH 2o Al 27, 22 Y
3,000,000& x43| 12,000
OQdH ZBOUX XM 22INM(SA, Ex=E|
HE £ )¢ 2,500,000& x43| 10,000




A
B =M AEY
Chel: ZSAEH (&)
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
OLQA ZCel(4s) Al 28 2
1,500, 000 x4 4 A +23| 12,000
207 Ao &I 32,000 0 32,000
01 A2 ESHI 32,000 0 32,000
OZANY S Z&B2HE+E B
32,000,000& =14 32,000
401 Al HI & 2 08I 782,940 686,000 96,940
01 A& HI 779,340 680,816 98,524
OFYGA ZEX ZEAY
20,000,000& *98.92% 19,784
OZAz S XHAY
50,000, 000& *98.92% 49,460
OaEH ZHX ZHAE 60,000,000 %99. 1% 59,460
Odtzgs gals LA
1,000& 10,0002 *23| 20,000
OJtl2+ B3 & HHAL 32,940,000 » 14! 32,940
OHSH HEDY Y2 TLAY
200,000,000& =14 200,000
OOSERIALSR dolls ZMAY
13,000, 000& 42| 52,000
OX2H & Itz EXEY
40,000, 000& %98.92% 39,568
OEzH 23 FHlAY
1,000,000 »100km*99. 1% 99,100
O0t2= HUIAI (2JH4) 15,000,000 *2J4 2 30,000
OE84 2EIZH ES ALY 25,000,000 14 25,000
O3.1BtNI2SI 28 Z2 T HAMY 28,000
OXHile RFEXN ZEX LAY
50,000, 000& *98.92% 49,460
OodY NFel 328 22X =4
5,000,000 *23| 10,000
Ottehs, Sstet 2E ESAMY
40,000, 000& *98.92% 39,568
OI& st&Ea 4X 25,000
03 A& =2 THHI 3,600 5,184 A 1,584
OFRGAF 2HX LAY 20HYI
20,000,000& *1.08% 216
O A= SIId ZEAY 20l
50,000, 000& *1.08% 540
OAY Z2HX LAY 20
60,000, 000& *0.9% 540
O&zd X Itz EXEY
40,000,000& x1.08% 432
OE=2HY Ji2&d HHIAY 20l
1,000,000 *100km*0. 9% 900
Ot MitE S5X 22T 4AY
50,000,000& x1.08% 540
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2N

F PEOVENE I
el BEAXY (29 a8)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
Ottei s, S3tat 2% B MY R0
40,000,000& =1.08% 432
Fa=3 2,000,000 2,200,000 200,000
X 1,000,000
Al 1,000,000
XA A%, Bz, 24, 8S02% S X4 2,000,000 2,000,000 0
NE (2 )
Xl 1,000,000
Al 1,000,000
401 Al HIZ 201 8] 2,000,000 2,000,000 0
Xl 1,000,000
Al 1,000,000
01 A& HI 1,987,040 1,986,500 540
O AM=Zx4(1.5na) 400,000, 000& *99.28% 397,120
X 198,560
Al 198,560
OJt2 4= x4 (3km) 600,000,000& *99.37% 596,220
Xl 298,110
Al 298,110
Ods4 A== X 4 (1.5nha)
1,000,000, 000& *99.37% 993,700
Xl 496,850
Al 496,850
03 A& =TI 12,960 13,500 A 540
OSAIEX4(1.5ha) 20HH]
400,000,000& x0.72% 2,880
Xl 1,440
Al 1,440
OJ2 4 Z 4 (3kn) = bl
600,000,000& *0.63% 3,780
Xl 1,890
Al 1,890
OH34 A== XH(1.5ha) 20Ul
1,000,000,000& *0.63% 6,300
Xl 3,150
Al 3,150
MEASSH 5,998,982 4,777,643 1,221,339
= 2,635,388
Xl 488,000
< 773,688
Al 2,101,906
ME=Ed 4,206,021 4,091,152 114,869
= 1,996,652
< 662,214
Al 1,547,155
HMEIPI(E2X) 2,170,127 1,872,912 297,215
= 1,085,061
< 325,518

®
|




2N
X ZH -
L= B

el

Ol
2

mrE e

0x Jn

PP
ov ou g

SN FH-SA(EN) - MBAY - BES

0l &t o

=

i
2m

759,548

401 AIEHIZ 2 THHI

= N W

, 170,127
,085,061

325,518
759,548

1,872,912

297,215

01 A& Hl

O2L2 IR I1(300ha)

03 A2 2 THHI
OZX&XItHI| 2UHI
O URIRI 2
O2USRItRI| 2l

OZZ X It 21 (1,000ha)

1,390,540, 000& *99.64%

OO0l LRIt 1 (150ha)

249,164,000 *99.28%

530,420,000& *99.37%

1,390,540, 000& *0.36%
Hl  249,164,000& *0.72%
530,420,000& *0.63%

= Hn W

= N H

= N W

—

, 159,985

, 385,535

695,270
208,581
481,684

247,371
124,582
37.374
85.415

527,079

265,209
79,563
182,307

10,142
5,006
1,794
3,342

1,860,869

12,043

299,116

A 1,901

SSEHINRIN(AXSHIZ2)(EX)

= N H

195,315
99,107
28,863
67,345

171,744

23,571

= M W

181,324
90,662
27,199
63,463

167,870

23,454

04 JIZtN 22X S

A
e

>
o

I

O BIOIQOH A ==&

r

g
ORI T AL (2E)

19,550,000 x2H

17,778,000& 8%

= N W

= Hn A

181,324
39,100

19,550
5,865
13,685

142,224
71,112
21,334
49,778

157,870

23,454

=z N H

1,200
600
180
420

1,200

01 At2 22l b

O£INRINVAEANS 28 ARE

i
4
e

1,200
1,200

1,200




2N
X ZH -
L= B

el

-

oz oz
0 QU oo

P

0x Jn

Ol
2

ir
x

CHE - EI(BA) - N

>
09
.
0x
Jo

Off &t 24

=

i
2m

= Hn

600
180
420

202

04|

= N H

3,000
1,500

450
1,050

3,000

01

=U 044
O/ HHOI QO A =T E

e & 2=

= HnH

3,000
3,000

1,500
450
1,050

3,000

206

= N H

6,891
3,445
1,034
2,412

6,752

139

01

HzHd

O&HEHIOI20 & =& &

KHXH =+ &

= 0 W

6,891
6,891

3,445
1,034
2,412

6,752

139

301

H

2,900
2,900

2,922

A22

09 &

W

H

2,900
900
900

2,000

2,000

2,922

A22

2,000

2,000

2,000

2,000

&=

> 40
il
ol

©)
o

I
02
>
P4
£l

2,000
2,000

2,000

= M W

1,838,579
812,484
307,833
718,262

2,044,496

N 205,917

401

AEHI X2 HI

= M W

1,693,820
737,210
287,567
669,043

1,951,655

N 257,835

01

Al &bl

OZURSA X (10ha)

91,307,000& %99. 1%

= N W

1,600,474
90,486

45,654
13,696
31,136

1,941,532

A 341,058
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SRR}
M MYASED
el MESA CER-ED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
O TH ol & XI & & (50ha)
325,542,000& *99.28% 323,199
= 33,867
< 87,503
Al 201,829
OZ M & =4 (220ha) 691,237,000 *99.37% 686,883
= 356,555
< 100,984
Al 229,344
OXYsS3std x4 (25ha)
503,075,000 *99.37% 499,906
= 251,538
= 75,461
Al 172,907
02 2eltl 82,659 0 82,659
OZX=& 4 H2al(183ha) 82,659
= 49,596
< 9,923
Al 23,140
03 A& S THHI 10,687 10,123 564
OZUFSdxd R0l 821
O& oYX =S SOl 2,343
OZHEx=H 2yl 4,354
OXNEEstgd = d 2| 3,169
402 2I2HAHE01 M 144,759 92,841 51,918
= 75,274
< 20,266
Al 49,219
02 QI EASEZ (01X S) 144,759 92,841 51,918
OE&4Zx g (30ha) 133,260
= 69,295
= 18,656
Al 45,309
SEEXNZE(3na) 11,499
= 5,979
< 1,610
Al 3,910
MEASIIEEE S 762,928 495,371 267,557
= 382,570
< 88,113
Al 292,245
LHSAHKX 2l 12,500 10,000 2,500
201 Let249] 1,500 0 1,500
01 At 22l 1,500 0 1,500
OFzggesdus 29 & DMME
1,000, 000& 12| 1,000




SN MDY
M MYASED
el ARIASIIBEHS CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
Otg4s 5B S8EES 29
250,000 »23| 500
301 et 8= 11,000 10,000 1,000
09 SALAHIEA S 10,000 10,000 0
OLG=AHXN =03 SIEH
90,000& *x20H 1,800
OLF=AHXN det=SEUa EIHEH
60,000& x50H 3,000
odgdzgdstn s B4
100,000& *20H 2,000
OFEY - dALHI = Wy FIHEL
40,0003 x40 #23| 3,200
1MIIEBELSS 1,000 0 1,000
OFSYAISE DS +g
500,000& x2H 1,000
Aol M85 AAMI BZ2(BX) 20,880 17,280 3,600
< 4,176
Al 16,704
201 £B-2dH| 20,880 17,280 3,600
< 4,176
Al 16,704
01 At 22l 20,880 0 20,880
OF2eol YtML DEX &
72,0003 #2902 20,880
< 4,176
Al 16,704
AMSABSXIA(EX) 113,590 72,920 40,670
= 56,795
< 17,038
Al 39,757
307 21201 A 113,590 72,920 40,670
= 56,795
< 17,038
Al 39,757
02 It AHE L 113,590 72,920 40,670
OZUE&Fat R 113,590
= 56,795
< 17,038
Al 39,757
UMSMAD|BIE A (B X) 86,662 100,652 A 13,990
= 43,331
< 12,999
Al 30,332
402 RI2EX=20| A 86,662 100,652 A 13,990
= 43,331
= 12,999
Al 30,332
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P
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1
N
0

m

40

T

X
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1
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e

e

ox

Jo

Off &t 24

=

M
2Hm
==
£l
Ol
0y

02 U2 EALEZ(0IETHE) 86,662 100,652 A 13,990
Ogets da|ptxd 86,662
43,331

12,999
30,332

= HnH

0o
rx
Ho
10
om
S|
=
P
0x
I
P

84,434 55,020 29,414

42,217
12,665
29,552

= N H

402 212t A= 01 & 84,434 55,020 29,414

42,217
12,665
29,552

= Hn W

HEZ(OIXMTHE) 84,434 55,020 29,414
OgddtsrsSIIgtxd 84,434
42,217

12,665
29,552

= M W

AP sTHa2el (BX) 181,684 97,208 84,476
141,088
12,093
28,503

= M W

402 BI2FX=01 M 181,684 97,208 84,476
141,088
12,093
28,503

= N W

(Ol TH&) 181,684 97,208 84,476
Oz MES T 22 181,684
141,088

12,093
28,503

=z o W

SHI(ExX) 190,278 58,720 131,558
95,139
28,542
66,597

= H W

402 212t X201 & 190,278 58,720 131,558
95,139
28,542
66,597

= MW

ENQUFSPUED! 190,278 58,720 131,558
EPNESCNERELY) 190,278

95,139
28,542
66,597

>~

= N W

=
o
k-
Jn
A
o
=
=
=
0

66,900 0 66,900

402 2I2tX201 & 66,900 0 66,900
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L= B

el

Jor B &

02 JIn
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EJ O

oz oz
0 QU o

o
0x
toi
m
0
]
0

10
x
0
Ja
i
10
=
X

HN2AY - BdS Off &t 24

=

M
2Hm
==
£l
Ol
0y

ONMEMENDIS 2SMUN n=sH 510

= N W

255
77
178

J
0

= MW

315,632
246,966
20,601
48,065

175,234

140,398

JE

In
2
A
I
=
paa
10

H
kA

= M W

309,001
240,335
20,601
48,065

168,603

140,398

402 212t A= 01 &

= M W

309,001
240,335
20,601
48,065

168,603

140,398

= W

309,001

309,001
240,335
20,601
48,065

168,603

140,398

H

4,483
4,483

4,483

H

4,483
4,483

4,483

H

4,483
4,483
4,483

4,483

H

2,148
2,148

2,148

202 04l

A

2,148
2,148

2,148

01 =L

o=t 25

W

2,148

2,148
2,148

2,148

i

paal
i)
=
[

Xl
Al

696,001

488,000
208,001

696,001

o
-

o

Xl
Al

195,000

137,000
58,000

195,000

401 AIEBIZ 20

Xl
Al

195,000

137,000
58,000

195,000

01 A€ HI

193,596

193,596
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SN S
HE: ML

A== S9(3H) - NEAY - BaS ﬁlf& HD=2
SEEET =R REN R RVES)
195,000, 000& *99 . 28% 193,596
Xl 136,014
Al 57,582
03 A& 2 0Hb| 1,404 1,404
OHZHOISUHES)| 25 - 2X(=& US) =2
CHHI 195,000, 000& *0.72% 1,404
Xl 986
Al 418
SO S (FBYH)(RERUSYUSI)(EX) 391,001 391,001
Xl 274,000
Al 117,001
401 Al HI L =2 Tl 391,001 391,001
N 274,000
Al 117,001
01 Al&H| 388,185 388, 185
OHZXOISUHS)| SHE(F2MEN) (AW LHE)
196,000, 000& %99 .28% 194,589
Xl 136,014
Al 58,575
OFZXOISUS)| SHE(F2MEN) (MW 242)
195,000, 000& *99 . 28% 193,596
Xl 136,014
Al 57,582
03 A& 2 0HbI 2,816 2,816
OFXZXOISUHS)| SHE(FMEN) (AW LHE)
24l 196,000, 000& *0.72% 1,412
Xl 986
Al 426
OFXZXNOSUHS)| SHE(FMEN) (MW 242)
=] 195,000, 000& *0.72% 1,404
Xl 986
Al 418
SAXNKMES(EX) 110,000 110,000
Xl 77,000
Al 33,000
307 QI2t0| & 20,000 20,000
Xl 14,000
Al 6,000
02 2B AMAIEE =X 20,000 20,000
OXtE AR L20tS 9223 (FE =XI) 20,000
Xl 14,000
Al 6,000
401 AlEH R 2 ThYI 90,000 90,000
Xl 63,000
Al 27,000
01 A& Hl 89,190 89,190
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SA A
M MYUASEH
S MEXFNY (Sl & &)
SA - FE - BI(EA) - NRAY - By 0l b SSa DS
OMEZFLIROIS(FE TX)
90,000,000 *99. 1% 89,190
Xl 63,000
Al 26,190
03 Al S THHI 810 0 810
Odg s (Fd LX) 20U 810
HEHHMEHNEE 29 1,256,104 946,206 309,898
HECHZHMEB NS 2el ¥ 2 1,256,104 946,206 309,898
S DS dAIZ 22l & 2 881,014 711,457 169,557
101 1Al 175,189 143,583 31,606
04 JIZtHNZ22 s+ 175,189 143,583 31,606
OFAIZ 2ol ol (H¥Aa2d, HE2E, L2
g, MEIE, 22X 1¥) 156,625
= 60,2403 x8H »246& 118,553
Fe=E 60,2403 x8H »522 25,060
e =] 60,240 *1.5«8H 18 13,012
OMEXY oz 60,2401 +4% 10 +6.3] 14,458
ODAMLE HEHNY =Y
102,630& x2H x5 43 4,106
201 ¢er24| 413,975 336, 194 77,781
01 At22t2l bl 188,765 163, 184 25,581
OMg==z21d 29 20,000
OZHANAY BEE X L& 40&+50,0000H 2,000
oss s ME 10,000
OfRoAH 84 220,000 128 2,640
OS2t X0l EH 7¢
85,0003 *4H x2CH 63 4,080
O&ANZ X 5 S 7¢ 400,000& 128 4,800
OMYIIEHHMSE F2(5021E)
700 *1,0000H 700
OsdJl |FX2el et & 200,000& =128 2,400
OFAIZ d&EZ HEZHM =2
215,000,000 *3.5% 7,525
OF2J| dX=(400) 50,000& =401 =128 2,400
O2=+=Fstx = 15,000& *22ton*23| 660
O=sd3aEA(50m) 12,000& »50m" x23] 1,200
oWty =X &3 HA(100m)
12,000& =100 m* 1,200
O&AIZ & 300,000 43 1,200
O=&=24 22l 3,000,000 «12& 36,000
O22=s FY (o= 2d, 55 2Y)
150,000& 4 x14&H 8,400
O&AIZ LAY 50,0003 «6H 62 «12& 21,600

_27_




SRR}
M MSZMHDREY 2
el MSOIZMEIDRE Bl ¥ 29 (sl &2)
SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
O2E=HelAldg 2el 849l 360,000& x12& 4,320
OgdAAHE 7X 22 220,000& 1228 2,640
O e8| 10,000
OJIgg dA=a =23 7€ 20,000
OUWSHAUSZ(HAZ MESLALE, 2R
N, HTY) M2y =2 15,000
OSTSDIHSHASHAN B #= T2
2% (33l) 10,000
02 =224l 135,210 128,010 7,200
OdJ|etEzte] 2 830,000& »12& 9,960
OdAIZ HIIRS 9,000,000& x12& 108,000
OHSHAUENSE MIIAE FHIIZA 450
o4y SEHLEAH 1,000, 000& 22| 2,000
O&AIZ A& H |XHl 10,000
OHSHME NS Y, LEHS MEZ
400,000& 123 4,800
03 A2 Z I 90,000 45,000 45,000
Sg Meg=Zz218 2g 90,000
202 odl 25,200 20,400 4,800
01 SLHOYI 1,200 1,200 0
OSSN WEEY 29 #X 02 1,200
02 M0 24,000 19,200 4,800
OHSHHME N EZE 22X
200,000& *10H «12& 24,000
206 M= Hl 46,650 44,130 2,520
01 =8l 46,650 44,130 2,520
gotz2sE 2 2eiFmHU 7 500
Hols2M s 7 1,000
Ox&d=+ Hz 7¢ 4,500& 1004 450
OFHl IHM(R, &, X Il &) 7 2,000
OGI=Dl, LA, ESH S JIH 87 ¢ 1,000
OXAZaE 2R ZeH(Z2RE Hx)
1,300,000& 244 31,200
OFANZ A24 HIEE AN 7 2,000
O&AIZ JIHANEES M ¢ 1,000
Olnad+E 7T M=AM 7
17,0002 3004 5,100
Os2 Mg 7Y 200,000& 128 2,400
401 AIEHI L 2 CHYI 220,000 160,000 60,000
01 A& HI 218,560 160,000 58,560
OHREHAMEHWSE A2 RAE+ 20,000
OS2t 2016 ZEAY
200,000,000& *99.28% 198,560
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MY WEAMHRSE 29
el MSOIZMEIDRE Bl ¥ 29 CEEEED
x 5 - 4
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
b |
03 Al&E 201 Y| 1,440 0 1,440

OS2 S0l ZHAY S04

200,000, 0002 *0.72% 1,440
AMEDSY MEESAL 22| 2 29 200,988 234,749 £33,761
o121t 74,328 77,433 ~3,105
04 JIZH2ENSES 74,328 77,433 ~3,105
oAl ASY 39,157
gy 60,2409 522 52462 29,639
S 60,2408 x2% 522 6,265
susg 60,2409 *1.5+2% x 182 3,253
Osgmel awy 25,934
ag 75,3009 * 12 +2462 18,524
VEEE RN 30, 12091 * 1% x2462 7,410
ONE=Y o 102,630l *52 3% +63] 9,237
ypre | 76,660 84,616 NT,956
AL 22l bl 36,460 32,416 4,044
OMREE 2 =2AD EY 29
1,000,0002! *18l 1,000
OF4 S D28E 7Y 400,0002 * 12 4,800
OFsZ 47 (8ton) 15,0002 +8ton+23l 240
OF4I LXE(I1) 50,0008 *10H 128 600
Oger+ g 3,000
OE2IsA PR P 200,0008 =94 E 1,800
OMBELAE 0182 HELM 448 1,700
OMEEYAE 2|
50,0008 *12*12 12 7,200
OMEEAE ST
50,0002 +224x 122 128 14,400
OERY, BEHY Y FIt &Y
10,0002 +2% %522 1,040
OLPGIH A (50kg/S) 78 85,0008 +85 680
ZzZ 2l 40,200 52,200 £12,000
OFDJ|tE B2l Y8442  250,0008 128 3,000
OIS 3,000,000% * 128 36,000
OHst+E 23 10,0002 * 12 1,200
401 A& H L 20l 50,000 72,000 ~22,000
01 Al£H 49,460 72,000 £22,540
OzUAIY x4 50,000, 0002 98.92% 49,460
03 Al& 2 HHI 540 0 540
OZYHWE X4 SOHl 50,000,008 *1.08% 540
ME2E REX el ¥ 29 137,222 0 137,222
101 Q124 | 48,526 0 48,526
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MM MS[UMHISE 29
Cel MEOIRMEDSE 2ol 2 29 (el @2)
SH-HH . B(SH) - HBAMY - B2 o A o SSa H RS2
04 JI2ZtH 22 XNHEE =+ 48,526 0 48,526
O dAae o2 19,580
2 60,2403 *1H 246 14,820
Fs¢ 60,240 *1H 52 3,133
sd4 60,2403 *1H*18 x1.5 1,627
oggae oy 25,934
2 75,3003 1Y 246 18,524
o224 30, 1203 1 %246 7,410
OMz=&g o2 60,2403 »2H x5 53| 3,012
201 LEt2 Y| 88,696 0 88,696
01 At 22l Yl 58,696 0 58,696
O&az&s P 200,000& 20 Ml E 4,000
O&A 5 2288 ¢ 500,000& 12& 6,000
O8I i &z 50,000 *7CHx12& 4,200
o1V, olg4u olsz 300,000& x12& 3,600
obld Xz 34,0002 *7CHx12& 2,856
O A 50,000& x1Hx122 x12& 7,200
O=ad| 50,000& »2H 12 x12& 14,400
OERY, 352 &Y F=It =484
10,0002 *1H»12 »12& 1,440
Os8Hl (2 E%, 210 S) 2,500,000& x4 3] 10,000
OgBt=gH| 5,000
02 352494l 30,000 0 30,000
OdIIe=2 2,500,000& x12& 30,000
=000t AYF el L 2 36,880 0 36,880
101 @124l 19,580 0 19,580
04 JI2ZtH 22 XNHEE 19,580 0 19,580
OFA 32 28 19,580
2 60,2403 1 246 14,820
FEE 60,240& *1H 52 3,133
sd4 60,2403 *1.5%x1H »18Y 1,627
201 L2 9| 17,300 0 17,300
01 At 22l Yl 5,300 0 5,300
OFA & 2H2EE ¢ 300,000& x12& 3,600
OLPGIFA (20kg/E) ¢ 35,000& x20= 700
Oget=2H| 1,000
02 3524t 12,000 0 12,000
o&IIe=a 1,000,000& x12& 12,000
HE2HAL (A D) 40,500 39,900 600
JI2ZHI (&) 40,500 39,900 600
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